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/irginica

AN Sepal Iris Versicolor Iris Setosa Iris Virginica

import pandas as pd
iris=pd.read_csv('https://vincentarelbundock.github.io/Rdatasets/

csv/datasets/iris.csv')
iris.head(3)

Unnamed: 0 Sepal.Length Sepal.Width Petal.Length Petal.Width
35 1.4 0.2

3.0 1.4 0.2

3.2 13 0.2
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import seaborn as sns
df=iris.iloc[:,1:5]
ax=sns.pairplot(df,kind="reg",corner=True,diag_kind="hist")

Sepal.Length

Sepal.Width
w w

Petal Width
e

7 20 25 30 35 40 2 3 6 05 10 15 20 25
Sepal.Length Sepal. Width Petal.Length Petal. Width
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import scipy.stats as stats
data=iris['Sepal.Length']
stats.shapiro(data),stats.anderson(data, 'norm')

o

=% 20| : RAASHE 1%=2 FRIE 7|24 - FA2E MEX %2 (22 i 270])

((0.9760897755622864, 0.01017984002828598),
AndersonResult(statistic=0.8891994860134105, critical_values=array([0.562, 0.64 , 0.767, 0.895, 1.065])

significance_level=array([15. ,

import scipy.stats as stats

import numpy as np

data=iris['Petal.Width']
stats.shapiro(np.sqrt(data)),stats.anderson(np.sqrt(data), 'norm')

2 X YHE 7K1 0] HE2 Heto| oist Y A" 2 RoEES2 o Aof
N Y=z dE=RE o ZOAC. olfs A2 U0l B2 HOX| 22 x| Ei=
OfglE & + Art. Ol FL FAHEES HESV|Ech= ¥ o S Jtiz AHEst
0f &= EAsk= 20| HHESICL.

((0.82148677110672, 3.0511385518822154e-12),
AndersonResult(statistic=11.561987140402096, critical_values=array([0.562, 0.64 , 0.767, 0.895, 1.065]),

por &2t Zo| ¢ ARSI V2 - HPRE wEx 98

((0.8762688040733337, 7.412849778454245e-10),
AndersonResult(statistic=7.6785455198266845, critical_ values=array([0.562, 0.64 , 0.767, 0.895, 1.065])

=% 0| @ HRE 71 - FAEE [EX

((0.9018339514732361, 1.6802413682626138e-08),

AndersonResult(statistic=5.1056620354169695, critical_values=array([0.562, 0.64 , 0.767, 0.895, 1.065])

((0.9849170446395874, 0.10113201290369034),
AndersonResult(statistic=0.9079550471145126, critical_values=array([0.562, 0.64 , 0.767, 0.895, 1.065])
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import seaborn as sns
df=iris.iloc[:,1:6]
ax=sns.pairplot(df,hue=‘Species', kind="reqg",diag_kind="hist")
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df=iris.iloc[:,1:5]
df.corr(method="pearson') #default

Sepal.Length Sepal.Width Petal.Length Petal.Width
Sepal.Length 1.000000 -0.117570 0.871754 0.817941

Sepal.Width -0.117570 1.000000 -0.428440 -0.366126

Petal.Length 0.871754 -0.428440 1.000000 0.962865

Petal.Width 0.817941 -0.366126 0.962865 1.000000
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df=iris.iloc[:,1:5]
df.corr(method="'spearman')

Sepal.Length Sepal.Width Petal.Length Petal.Width
Sepal.Length 1.000000 -0.166778 0.881898 0.834289

Sepal.Width -0.166778 1.000000 -0.309635 -0.289032

Petal.Length 0.881898 -0.309635 1.000000 0.937667

Petal.Width 0.834289 -0.289032 0.937667 1.000000
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Kendall Tau =9 Af2tA |4

AR Bl 7h0| (1R 2| M2 concordant (2] 21EX| gfe| 37|2t =¢le| 277 YX[ohe Fr 2 EEFRY)

#of_concordant_pairs — #of _disconcordant_pairs

AR 7 = 1)
nn —
- 2F(x; > xp), (v > ;) 0L (; < ;) O1F, (y; < ;) O &= 2B RI= concordant K02} &

- 750 2= H0[H (2| EX|= SO0MRI2R 227 ZOREICH

df=iris.iloc[:,1:5]
df.corr(method="'kendall"')

Sepal.Length Sepal.Width Petal.Length Petal.Width

Sepal.Length 1.000000 -0.076997 0.718516 0.655309

Sepal.Width -0.076997 1.000000 -0.185994 -0.157126
Petal.Length 0.718516 -0.185994 1.000000 0.806891

Petal.Width 0.655309 -0.157126 0.806891 1.000000

Pandas corr() Z2t= H|0|H TS 2 XAt
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df=iris.iloc[:,1:5]
df_cor=df.corr(method="'pearson') #default
type(df_cor), df_cor.columns, df_cor.index

(pandas.core.frame.DataFrame,
Index([ 'Sepal.Length', 'Sepal.wWidth', 'Petal.Length', 'Petal.Width'],

Index([ 'Sepal.Length', 'Sepal.Width', 'Petal.Length', 'Petal.Width'],
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Rule of thumb:
* (.0 =Irl: no correlation
* (0.0<Irl<0.2: very weak correlation
* (0.2 <[r| <0.4: weak correlation
* (0.4 <[r| <0.6 : moderately strong correlation
* 0.6 <[r| 0.8 : strong correlation
* 0.8 <|r| <1.0: very strong correlation
* 1.0 =Ir : perfect correlation AFIAIA0| HIZ0| 5B A0 ZEAIA0|D

C O =

2 70% Ol =00 2| 2H(OISZH)2| =7 =0 & 4~ QUL

A
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df=iris.iloc[:,1:6]
df_cor=df.groupby('Species').corr()
df_cor.style.background_gradient(cmap="'coolwarm').set_precision(3)

Sepal.Length Sepal.Width Petal.Length Petal.Width

Sepal.Length Kee]o] 0.743 _—
cotoe,  SePAILWidth 0743
petal.Length (PN AL (NN OSSR
petal.width (EZ N OSSR 05320

Sepal.Length Kee]o] 0.526 0.754 0.546

Species

. Sepal.Width 0.526 1.000 0.561 0.664
versicolor
Petal.Length 0.754 0.561 1.000 0.787
Petal.Width 0.546 0.664 0.787 1.000
Sepal.Length Kele]e] 0.457 _—
Sepal.Width 0.457 1.000 0.401 0.538

virginica
8 petal.Length OI86ANIIN 0401 [ILL 032
Petal.Width [JPE] 0.538 032200 [

import matplotlib.pyplot as plt
plt.rcParams["figure.figsize"] = (14,8)
sn.heatmap(df_cor,annot=True, fmt=".2f", cmap="Y1GnBu")
plt.show()

Az 0.8 O[4 : virginica £¢ Zo|, &l =z} Z0| 0.86 71 =3

setosa-Sepal.Length
setosa-Sepal Width
setosa-Petal.Length -
setosa-Petal. Width -

versicolor-Sepal.Length

versicolor-Petal Length

Species-None

versicolor-Petal Width

virginica-Sepal.Length

-04

virginica-Sepal . Width -

-03
virginica-Petal.Length

virginica-Petal Width - -02

1 1 U
Sepal.Length Sepal Width Petal.Length Petal Width
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import scipy.stats as st
stats.pearsonr(iris[‘Petal.Length'],iris['Petal.Width'])

[> (0.962865431402796, 4.6750039073285846e-86)

=HkRl X2F Zo|Qt HOo| HEAS -0.11(39 HzEA), |osiX %28 (p=0.15)
stats.pearsonr(iris[‘Sepal.Length'],iris['Sepal.Width'])

[> (-0.11756978413300206, 0.15189826071144766)
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from scipy import stats
stats.linregress(iris['Petal.Length'],iris['Petal.Width'])

LinregressResult(slope=0.41575541635241114, intercept=-0.36307552131902776

rvalue=0.9628654314027963, pvalue=4.6750039073255014e-86, stderr=0.009582435790

import statsmodels.api as sm
model=sm.0LS(iris['Petal.Width'],sm.add_constant(iris['Petal.Leng
th']l))

results=model.fit()

results.summary()

OLS Regression Results
Dep. Variable: Petal.Width R-squared: 0.927
Model: OoLS Adj. R-squared: 0.927
Method: Least Squares F-statistic: 1882.
Date: Sat, 17 Oct 2020 Prob (F-statistic): 4.68e-8
Time: 23:28:33 Log-Likelihood: 24.796
0. Observations: 150 AlC: -45.59

Df Residuals: 148 BIC: -39.57
Df Model: 1
ovariance Type: nonrobust
coef stderr t P>|t| [0.025 0.975]
const -0.36310.040 -9.131 0.000 -0.442 -0.285
etal.Length 0.4158 0.010 43.387 0.000 0.397 0.435
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from matplotlib import pyplot as plt

import plotly.express as px
fig=px.scatter(iris,y="'Petal.Width',x="'Petal.Length',color="'Speci
es',marginal_x='box',marginal_y='histogram', trendline='ols')
fig.show()

—] ® Species=setosa

® Species=versicolor

. 1} ®  Species=virginica

2.5

0.5

Petal.Width

Petal.Length

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [13/18]



http://wolfpack.hnu.ac.kr

™
0z
o
M
1z
D
o)
i
r
m
T
rok
ox
40
D

TTh AR R 2K 2™ 1RV H t p = py

. S12 0|3 CfaH0| 49 TEAZHT} SHHO| AR 070(91CH T34 313 CaY AliAlas 07217p
1 1+r 11+ 1
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import pandas as pd

iris=pd.read_csv('https://vincentarelbundock.github.io/Rdatasets/
csv/datasets/iris.csv')

iris.iloc[:,[1,31].corr()

Sepal.Length Petal.Length
Sepal.Length 1.000000 0.871754

Petal.Length 0.871754 1.000000

import numpy as np

import scipy.stats as st

n=iris.shapel0]

rho=0.8

r=0.871754

ts=(0.5%np.log((1+r)/(1-r))-0.5%np. log((1+rho)/(1-rho)))/
np.sqrt(1/(n-3))

p_value=(1-st.norm.cdf(abs(ts),0,1))x*2

ts,p_value

(2.930798464036547, 0.0033809204220280886)

AR S, M 2Rel de R, B9 Lol MEALE 0.872 BRI Ruc
SEARTL ROl Rk,

N
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& =2 DEE A X0l EE RV Hy : py = py T BRI 27 |= SZSIT

BV H D pp #F py

n ) + )
2 1—}"1 2 1—}"2 (n1—3) (n2—3)

Zdkxl (sepal) Z0|2t £ (petal) Zo|e AMEALE= (versicolor, virginica)

Sepal.Length Petal.Length

df=iris.iloc[:, [1,3,5]]

df.groupby(‘Species').corr() Species
setosa Sepal.Length 1.000000 0.267176
iris[‘Species'].value_counts() Petal.Length 0.267176 1.000000
versicolor Sepal.Length 1.000000 0.754049
setosa >0 Petal.Length 0.754049 1.000000
virginica 50 virginica  Sepal.Length 1000000 0.864225
versicolor 50 Petal.Length 0.864225 1.000000

import numpy as np

import scipy.stats as st

n1l=50

n2=50

r1=0.754049

r2=0.864225

ts=(0.5*np.log((1+rl)/(1-r1))-0.5%np. log((1+r2)/(1-r2)))/
np.sqrt(1/(n1-3)+1/(n2-3))
p_value=(1-st.norm.cdf(abs(ts),0,1))*2

ts,p_value

2=0| 11.2%=2 HR7tHE 7[4dHX| =sitt. (versicolor, virginica) &&7t
7

o
TT
A2 x0l= FolSHA| GCt.

9|
2t

(-1.5877407387688913, 0.11234497687180856)

€
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0= TAl ASX|ZE (AFZEX|S mortality index : Y)

import pandas as pd

smsa=pd.read_csv('http://203.247.53.31/Stat_Notes/example_data/
SMSA_USA.csv')

smsa.info()

<class 'pandas.core.frame.DataFrame'>
RangeIndex: 59 entries, 0 to 58
Data columns (total 17 columns):

# Column Non-Null Count Dtype
0 city name 59 non-null object
1 jan_temp 59 non-null int64
2 july temp 59 non-null inté64
3 humidity 59 non-null int64
4 rainfall 59 non-null int64
5 mortality index 59 non-null float64
6 education 59 non-null float64
7 pop_density 59 non-null int64
8 non_white_ratio 59 non-null float64
9 white color_ratio 59 non-null float64
10 population 59 non-null inté64
11 person_houshold 59 non-null float64
12 household_income 59 non-null int64
13 HCPot 59 non-null inté64
14 NOxPot 59 non-null inté64
15 S02Pot 59 non-null int64
16 southern 59 non-null object

Y

€
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july temp humidity rainfall mortality index
jan_temp 1.000000 0.322146  0.085522  0.058566 -0.015952
july_temp 0.322146 1.000000 -0.441397  0.472257 0.321828
humidity 0.085522 -0.441397 1.000000 -0.101074

ANHE X[ mortality index A&H£7t 0.3 O|AQl M

NS

['Jjuly_temp',
‘rainfall’',
'mortality index',
‘education’,
'non_white_ratio',
'person_houshold' ]

df_reg.corr()

july temp rainfall mortality index education non_white_ratio person_houshold

july_temp 1.000000  0.472257 0.321828  -0.269484 0.602237 0.257080
rainfall 0.472257 1.000000 0.433114  -0.472978 0.302765 0.199056
education -0.269484 -0.472978 -0.508087 1.000000 -0.208875 -0.389103
1on_white_ratio 0.602237  0.302765 0.646556  -0.208875 1.000000 0.352736
erson_houshold 0.257080  0.199056 0.368016  -0.389103 0.352736 1.000000
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CHE3MH & 82 [http:/203.247.53.31/2020spring/L M2020/LinearModel 2020 spring chd.pd]

SRy = X3 + €2l f2l OLS FHAI= f = (X'X)™'X'yOlch deutsn(X) Zto| diativtzoH
det(X'X) ~ 00|22 X' X~ 70| 0§ HZEIC

0|2 215101, 42| OLS FFZ(0| BiS0| HX| 1L (FHELIO0| HE) 272l RS7HX| BHl= EXI7F Uit

—_

AZE A= (Y)2k 78712 (july_temp)o| &A= +0.32 ZOIUEH SlFA=
-3.6891= gdefs F= Aoz FEE[QUCH OfFHA &A=t 3FAIe2] B2t

=
BFE 22 MYHASTH 2 MBEDIZ CHEEMM0| WAIso op|Alzl 2Rolct.

import statsmodels.api as sm
y=df_reg['mortality_index"']
X=df_reg.iloc[:,[0,1,3,4,5]]
model=sm.0LS(y,sm.add_constant(X))
results=model.fit()
results.summary()

coef stderr t P>|t| [0.025 0.975]

const 1357.4098 192.452 7.053 0.000 971.401 1743.419
july_temp -3.6891 1572 -23470.023 -6.842 -0.537
rainfall 1.0378 0.574 1.809 0.076 -0.113  2.189

education -24.8046 7.581 -3.272 0.002 -40.009 -9.600
non_white_ratio 4.6503 0.769 6.046 0.000 3.108 6.193
person_houshold 10.8024 33.273 0.325 0.747 -55.934 77.539

Ay (X) 2 =2 I E CEa3My0| Yist= 292 MEHS(HS) 2] SEL
(A2 ) HEZ2REE DR, ARYHE(Fst, MYAL L)E TZ=otl 0| 0|80 Y2
Y EHSE O|&StCL.

FMEHS (LX) E AW MYZAC=E ARl RHft= FH2| M 02 ME =
ZIoICt, FMHEHAE MOHLZE ZSEHLE oS (3FHEY) STt

Zn ZOo|LE : http://203.247.53.31/Fall_2020/lecturenote/

mva pca.pdf
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http://203.247.53.31/Fall_2020/lecturenote/mva_pca.pdf
http://203.247.53.31/2020spring/LM2020/LinearModel_2020_spring_ch4.pdf
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